
EXST 12WF

EXST 10WF

EXST ROOF PURLIN

EXST 21WF BM

EXST WF21

B
. 

G
A

C
K

S
T

A
T

T
E

R

334058

JUNE 2006

D
E

T
A

IL
S

S-2416

S
T

R
U

C
T

U
R

A
L

 

sts2416_334058.dgn

A
SECTION
1"=1’-0"

B
SECTION
1"=1’-0"

C
SECTION
1"=1’-0"

D
SECTION
1"=1’-0"

E
SECTION
1"=1’-0"

F
SECTION
1"=1’-0"

G
SECTION
1"=1’-0"

H
SECTION
1"=1’-0"

A  D.9 

5 B

C

A

1/4

TOS EL VARIES

1’-0"

2
 3

/4
 "

2" 2"

1/4

 

PL 3/4"x2"x0’-4"

SEE BUILDING SECTIONS 

FOR SPACING

TOS EL VARIES

1/4

3
"

L5x3x1/2" LLV

BEND DECK DOWN

TO WELD TO ANGLE

NOTES:

1.

2.

EXST

MASONRY

WALL

#4 VERT x 4’-4" @ 48" OC

IN GROUTED CORE

PL WASHER 3/8"x3"x0’-6"

#4 CONT

NOTES:

SQUARE NUT OR

RIVET HEAD @

EXTERIOR

1. MORTAR BOLT SOLID IN EXTERIOR WYTHE.

TOS ALONG  5

EL 43.71

1/2" DIA THRU-BOLTS @ 3’-2" OC.

FOUL THREADS AFTER NUTS

ARE TIGHTENED.

 
 

1 1/2 "

PARGE COLLAR

JOINT SOLID

 

GROUT CMU SOLID

PL WASHER 3/8"x6"x0’-6"

EQL

1/2" DIA THRU-BOLTS @ 3’-2" OC.

FOUL THREADS AFTER NUTS

ARE TIGHTENED.

(NOTE 1)

 

PROVIDE SHIM PLATES

AT BOLTS.  TACK WELD TO GIRT.

1/4  3
/4

 "

5
"

TOS

 

TYP TO 10WF

& 12WF

1/2" PL

PL WASHER

3/8"x3"x0’-3"

TURNED TO

PROVIDE

DIAMOND

APPERANCE

5020

TOS EL VARIES

5/16

1/4

1/4

(H
IG

H
 R

O
O

F
 1

)
M

. 
C

H
R

Z
A

N
O

W
S

K
I

G
. 
O

M
O

R
I

M
. 
G

O
O

D
S

O
N

E

TOP EXST

ROOFING VARIES

5150

5050 SIM (4 PLCS)

5065

3 1/2 "

 3
/4

 "

TOS

EL 41.75

12" CONT

@ ENDS

1/4 2@12

W8 FOR DUCT

SUPPORT, TYP

CONN

2"

EJ

NOTE 1

FLANGE BRACE @

ROOF PURLINS

W12x26 + PL 5/16x13"

NOTES:

1.

TO

EDGE

OF PL

2

GROUT PARAPET SOLID A MINIMUM OF 12" FROM

MASONRY ANCHORS.  COORDINATE GROUT LOCATIONS 

WITH HANDRAIL LAYOUT.

INSTALL DURO-O-WAL SERIES 5100 FACADE STABILIZING ANCHORS

IN EXISTING MORTAR JOINTS @ 2.67 FT   PATTERN.

S29

S-2403

S-2404, S-2405 S-2408 S-2403

1/4 2@12

ANGLE 3x3x3/8 x0’-3"

WALL ANCHORS NS & FS

WELDED TO WEB OF

EXST BM (TYP AT 

ALL EXST BMS

BETWEEN  4  &  5 )

PROVIDE (2) 5/8" x 2’-6" DSA @ EACH

BM BEARING POINT.  LAP #3 BENT

BAR TO EACH DSA.  LOCATE DSAS

WITHIN 16" OF CL OF BMS.

PL WASHER

3/8"x3"x0’-3"

TURNED TO PROVIDE

DIAMOND APPEARANCE
STL ROOF DECK

STL ROOF DECK

STL ROOF DECK

CL GIRT

PL 5/16" x 8 1/2" CONT,

SEE NOTE 2

EQL1/4

1/4

1 1/2@6

1 1/2@6

SEE 

NOTE 

3

STL ROOF DECK

1/2" PL, SEE 

DETAIL
8

S-2423

2. JOINTS BETWEEN SECTIONS OF PLATES MUST OCCUR AT MIDSPAN OF BEAMS.

3. PROVIDE 4" LONG FILLET WELDS NS AND FS AT ENDS OF W10’S.

REPLACE EXST BENT PL

WITH NEW GUSSET.

SEE
8

S-2423

A

2

4

1/4

1/4

3/16

3/16

1/4

1/4

S-2403, S-2404, S-2405, S-2406

#5 CONT

1/2" x 12" DSA @ 4’-0" OC

NOTE 1

SQUARE NUT OR

RIVET HEAD @

EXTERIOR

2. GROUT PARAPET SOLID A MINIMUM OF

12" FROM MASONRY ANCHORS.  COORDINATE

GROUT LOCATIONS WITH HANDRAIL LAYOUT.

CONTRACTOR TO FIELD VERIFY

ALL DIMENSIONS PRIOR TO 

INITIATING ANY DEMOLITION OR

OTHER WORK INCLUDING

ORDERING MATERIALS.

S-2404, S-2405, S-2406, S-2417

S-2407, S-2410

1 1/2@8"

 

B
O

N
D

 B
E

A
M

S
E

E
 S

E
C

T
IO

N

G
R

O
U

T
 S

O
L

ID

A

S
-2

4
0

3

1/4 1 1/2@8"

NOTE:

1. THESE HORIZ REINF BARS TO BE

CONTINUOUS THROUGH CONTROL JOINT.

2 #5

NOTE 1

2 #5

NOTE 1

CL 3/4" DIA BOLTS @ 2’-8" OC

FOUL THREADS AFTER NUT

IS TIGHTENED

OFFSET INTERIOR VERTICAL

REINFORCING TO CLEAR

EXST BEAM

1’-0"

CONN

1
 1

/4
 "

1
 1

/2
 "

1
’-

0
"

 1
/2

 "
 P

L

1
"
 C

L
R

TYP

PL 1/2x13"

WT 7x45 x 1’-2"

CL (3) 3/4" DIA BOLTS

FINGER TIGHTENED

& FOUL THREADS

1/4

1/4

W10

PL 1/2"x5"x1’-0" WITH

VERTICAL SLOTTED HOLES

CENTER PL UNDER

WEB OF W10

A  &  B

PROVIDE DECK WELDS

@ 6" OC BETWEEN

SEE SECTION

FOR ADDITIONAL

INFORMATION

8"

3
"

11"

B
O

N
D

 B
E

A
M

G
R

O
U

T
 S

O
L

ID

5521

NOTE:

1. THESE HORIZ REINF BARS TO BE

CONTINUOUS THROUGH CONTROL JOINTS.

OFFSET INTERIOR

VERTICAL REINF TO

CLEAR EXST BEAM

STEEL ROOF DECK

CL 1/2" DIA ANCHOR BOLTS

@ 3’-2" OC IN HOLES DRILLED

THROUGH WEB OF EXST 10WF

FOUL THREADS AFTER

INSTALLATION

#5 HEF

NOTE 1

2 #5

NOTE 1

7"

S-2402, S-2410, S-2415

1/4

2

SEE 

FOR MASONRY

WALL REINF

S-2403

A

5521

DOUBLE LADDER
JOINT REINF

5521

#5 CONT
14" COMPOSITE MULTI-WYTHE

CMU WALL (8"+ 6")

USE DOUBLE LADDER JOINT

REINFORCING @ 16" OC

5"

AL HANDRAIL SEE

WITH TYPE "A" ANCHORAGE

MAX POST SPACING 4’-4" OC

AL HANDRAIL

SEE

WITH TYPE "A" ANCHORAGE

MAX POST SPACING 4’-4" OC

AL HANDRAIL

SEE

WITH TYPE "A" ANCHORAGE

MAX POST SPACING 4’-4" OC

AL HANDRAIL

SEE

WITH TYPE "A" ANCHORAGE

MAX POST SPACING 4’-4" OC

5521
AL HANDRAIL

SEE

WITH TYPE "A" ANCHORAGE

MAX POST SPACING 4’-4" OC

5521

0
B

G

123

0
6

/1
9

/0
6

0
7

/0
4

/0
6

0
9

/0
8

/0
6

0
1

/2
0

/0
8

F
O

R
 F

IN
A

L
 R

E
V

IE
W

/ 
B

U
IL

D
IN

G
 P

E
R

M
IT

IS
S

U
E

D
 F

O
R

 C
O

N
S

T
R

U
C

T
IO

N

R
E

-I
S

S
U

E
D

 F
O

R
 C

O
N

S
T

R
U

C
T

IO
N

M
C

P
W

B
G

P
W

B
G

B
G

B
G

R
E

C
O

R
D

 D
R

A
W

IN
G

THESE RECORD DOCUMENTS HAVE BEEN

PREPARED BASED ON THE INFORMATION

PROVIDED BY OTHERS. THE DESIGN

PROFESSIONAL HAS NOT VERIFIED THE

ACCURACY AND/OR COMPLETENESS OF

THIS INFORMATION AND SHALL NOT BE

RESPONSIBLE FOR ANY ERRORS OR

OMISSIONS WHICH MAY BE INCORPORATED

HEREIN AS A RESULT.
PROJ

DATE

D
A

T
E

N
O

.

D
S

G
N

D
R

R
E

V
IS

IO
N

C
H

K

A
P

V
D

B
Y

A
P

V
D

c

SHEET

DWG

FILENAME:

C
H

2
M

 H
IL

L
 2

0
0
4
. 
 A

L
L

 R
IG

H
T

S
 R

E
S

E
R

V
E

D
.

1 2 3 4 5 6

A

B

C

D

VERIFY SCALE

BAR IS ONE INCH ON

ORIGINAL DRAWING.

1"0

C
H

2
M

 H
IL

L
 A

N
D

 I
S

 N
O

T
 T

O
 B

E
 U

S
E

D
, 
IN

 W
H

O
L

E
 O

R
 I

N
 P

A
R

T
, 
F

O
R

 A
N

Y
 O

T
H

E
R

 P
R

O
JE

C
T

 W
IT

H
O

U
T

 T
H

E
 W

R
IT

T
E

N
 A

U
T

H
O

R
IZ

A
T

IO
N

 O
F

 C
H

2
M

H
IL

L
.

T
H

IS
 D

O
C

U
M

E
N

T
, 

A
N

D
 T

H
E

 I
D

E
A

S
 A

N
D

 D
E

S
IG

N
S

 I
N

C
O

R
P

O
R

A
T

E
D

 H
E

R
E

IN
, 

A
S

 A
N

 I
N

S
T

R
U

M
E

N
T

 O
F

 P
R

O
F

E
S

S
IO

N
A

L
 S

E
R

V
IC

E
, 

IS
 T

H
E

 P
R

O
P

E
R

T
Y

 O
F

R
E

U
S

E
 O

F
 D

O
C

U
M

E
N

T
S

:

334058

S
T

A
M

F
O

R
D

 W
A

T
E

R
 P

O
L

L
U

T
IO

N

C
O

N
T

R
O

L
 A

U
T

H
O

R
IT

Y

S
O

L
ID

S
 D

R
Y

IN
G

 P
R

O
J
E

C
T

MODIFIED TIME:MODIFIED DATE:


